H & 0l & AHS B Ml A

20243 =0l ok LB S AIXH A 1t

A SAITHAE D

M CAYYS S8 R
SRl AT D& AN =& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AL TH24 10 1,951,435 1,404,3% 547,039
CATHMES Set o"ged 1,772,719 1,227,837 544,882
CAITHE D12 & ANYE =& 5,810 195,810 150,000
CAITHA 1= 5,810 185,810 150,000
201 fer= 3| 5,000 5,000 0
01 At 2|l 5,000 5,000 0
OF& TAINY =r&sl &It
5,000,000 5,000
203 BR8] 810 810
03 A=A RN 810 810
OZAITHMEAIS =&l 900, 0002 *90% 810
CATHEAIY =8 369,252 411,09 A51,844
CATHEAIY & A2 3,638 4,068 2530
201 eer23| 2,188 2,718 2530
01 AtR2t2|HI 1,480 2,070 A5
OB 2% - X7 AE
360,000 *32] 1,080
OMdAIE = 28 HE, =M X S
100,000& x2JH*22] 400
2 35234l 708 648 60
OMelel ze2(0f =) HIIRS
55,0002 123 660
Ozd S=H ol
8,000& +6E 48
203 g4l 1,350 1,350
03 A=A 2= 1,350 1,350
OZAIMYE 7EAE =&
1,500,000 *90% 1,350
20178 ZAITHA ALY (H0t0HS) 13,000 22,160 29,160
301 LEtE N = 13,000 0 13,000
14 DBt 2 a3 13,000 0 13,000
OFANY XM 18 RS
13,000,000 13,000
2018 TAITHAAI (SOHOLS) 177,008 187,264 10,256
201 2= 22,520 22,520 0
01 At22t2lH] 19,280 19,280 0
OEANY SEXNHHE 2 8,280
- 2AE AXg, 2eldl S
690,000+ 12 8,280
OFANY JI=E3d= ME
11,000,000 11,000
02 s3=gHl 3,240 3,240 0
OZANY SHEXNHME Sit=s 7
270,000& * 122 3,240
301 EtE NS 154,488 144,744 9,744




2A:

S AIRH A4 D

M CAYYS S8 R
SRl ZAIHAEAIY =& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 JIEt2 8= 154,488 144,744 9,744
OZANY SEXAHME 15 =2 154,488
dEHE =& 4,324,000~ 12 51,888
AR Z(2IZCIUI0IE) =
3,390,000 123 40,680
OISt =<
2,580,000 «2&«12& 61,920
20198 T AITHAAS (CHEIMEXI DOHOLS) 89,776 108,544 18,768
201 er23 | 16,000 16,000 0
01 At2teltl 16,000 16,000 0
CAMNESHE X 2HE 29
5,000,000& 5,000
OZAIMd JIEga= ME
11,000,000 11,000
301 22N = 73,776 92,544 A18,768
14 JIEt2 8= 73,776 92,544 A 18,768
OZANY SHEXAME 18 2 73,776
dEHE =& 41,568,000& 41,568
OIsgsot =4 32,208,000 32,208
A AEE 29 75,930 89,060 213,130
201 fet=3| 75,930 89,060 A13,130
01 At 22|l 17,940 20,780 22,840
O&0I0l= ANld2 223 7,380,000& 7,380
OS2 AlEE 23 2,640,000& 2,640
OUWEITXI K0S AME= 2E
7,920,000& 7,920
02 S3=gHl 57,990 68,280 210,290
OHOIOIE AIEE 33
30,450,000& 30,450
OsHoE AldE 2t= 5,640,000& 5,640
OUWEIXI 10t A= Sits
21,900,000& 21,900
CANY SSH A 1,407,657 660,931 746,726
2 E0E 29 855,569 313,077 542,492
101 21A4H| 157,593 183,737 3,8%
04 JIZtN2Z2 XS+ 157,593 183,737 3,85
Ozd=slts 29 Ex 51,298
JlEa 88,2722 «3H 28 L6 44,490
SXZE 300,000 +3& 900
-HEY0S 300,000 3 900
-mUASEEE 44,490,000 *4. 5% 2,003
- RUAAEEE 44,490,000 +3.545% 1,578
- HIeLEE= 1,578,0002%12.81% 203
- NEEES 44,490,000 *1.75% 779




2A:

M ¢

S AIRH A4 D

=
ciol CAM ZEH AE (cho): 22l)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MHEE S 44,490,000 * 1% 445
OZ&=2=tite FHL el 51,298
Jl2s 88,2722 «3H*28L+6H 44,490
SXEE 300,000 *3& 900
- HEH0= 300,000 3% 900
-mUASEE=s 44,490,000& *4. 5% 2,003
-SUAIEEE 44,490,000 *3.545% 1,578
- RATE= 1,578,0002%12.81% 203
- 1E2EER 44,490,000 *1.75% 779
MHEER 44,490,000 * 1% 445
OLEZsiote 2E 2X(EDI) 54,997
Jl2s 88,272 x5 28 4 49,433
-=RUASEEE 49,433,000 4. 5% 2,225
-RUALLEEHE 49,433,000 +3.545% 1,753
- YIRLEE= 1,753,0002%12.81% 225
- IEEER 49,433,000 +1.75% 866
MHEES 49,433,000 * 1% 495
201 2= 121,176 119,540 1,636
01 AtR2t2lt] 78,276 76,640 1,636
Ozd=Zstiis M= =<
25,080,000 25,080
OzZd=zalts 228 23
21,600,000& 21,600
Oz & =30t SHOIX | 24
83,000& * 122 9%
ORQUBHIAIAYE =8
130, 000& 504 A+ 122 7,800
OEE= M 3,600,000& 3,600
OzZd=sits X224
60,0002 x 1 =120 7,200
OdIXIZAl 2 11,000,000 11,000
OZd=2=its 224 AHES
1,000,000 1,000
02 S3=gl 42,900 42,900 0
OZdEs0t= ANE=E Sit= 42,000
s 1,700,000~ 128 20,400
=ER=3 2,100,000 x6& 12,600
Stes= 300,000& * 122 3,600
hAaes 450,000 12& 5,400
O=s&38d 3% o
300,000 304 A 900
301 22N = 4,800 9,800 25,000
11 dALREIXIE S 4,800 9,800 25,000




2A:

33 &

S AIRH A4 D

=
el EAIXH?:”EJ?.—gi?I XI%EL (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Olts & SAA 24
20,0003 x4 »60! 4,800
401 AIZHIX R0 572,000 30,000 542,000
01 AlZH| 572,000 30,000 542,000
OLHZs0tE Y+ 2 AXI(ZAH])
15,000,000& 15,000
OZH=2310tE 89 2 M (FUFHO
AF) 57,000,000 57,000
OSsi0le YIX B8 B D} 25
500,000,000& 500,000
ASEZ SUlaA AIEE 2l 16,320 16,320
201 fer= 3| 16,320 16,320
01 Al 22| 7,560 7,560
OBBNEE 2% 2 22 7,560
zzALE 22 2 22
100,000& x 12 »501 2 6,000
Lol =2 130,000& * 12 1,560
02 S3=gl 8,760 8,760 0
OAlg= 28 sili= 8,760
s 100,000« 122 x50 2 6,000
*=ER= 50,0002 x6 2 x204 A 600
Stes 50,0002 x12E x20H A 1,200
hAaes 80,0002 x12&* 1 & 960
Ol=3SH 243t N& 37,500 37,500 0
201 fer= 3| 29,800 29,800
01 At 2|l 18,800 18,800
Olt=ssH 243 Ad 7,400
SSH g5 X& 700,000 x6IH A 4,200
CAITHY =Eedel & Ot=2 & 8A X2
800,000 800
d=0tsdH & 248 X
1,200,000 *20H 2 2,400
o#=0l2 T2 2% X
70,0002 61 A% 1024+22] 8,400
ORQUBHIANAY ==& 3,000
MR A= HE 110,000 122 1,320
- Zefs l=dH 140,000 ~ 128 1,680
2 S52g4l 11,000 11,000 0
OM=ME 245 22
458,300 «20 A+ 12 11,000
203 HR=H| 2,700 2,700
03 A=A 2= 2,700 2,700
Olt=ssH 243t =X
3,000, 0002 *90% 2,700
401 AlZHIZ SO 5,000 5,000 0




2A:

S AIRH A4 D

M CAMES S8 REUA
R AN SSH K (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 5,000 5,000 0
OYZHE S 22 RX
2,500,000 +27H 2= 5,000
OEADIAIRA 23 66,818 39,034 27,784
101 21A4H| 51,298 33,374 17,924
04 JIZtN2Z2 XS 51,298 33,374 17,924
OOESRIIIAIR A D222 24 51,298
- QIABI(FEXEE)
88,272 x3B 28U +6E 44,490
- SXEE 300,000 3% 900
- EEFOH 300,000 3% 900
-RUHsSEEE 44,490,000 *4. 5% 2,003
-=RUALLEEHZ 44,490,000 +3.545% 1,578
- YIeLEE= 1,578,0002 %12.81% 203
- NEEES 44.,490,000& *1.75% 779
SMHEE = 44,490,000 * 1% 445
201 et 3| 15,520 5,660 9,860
01 AtR2tc|bI 10,600 3,800 6.800
OOFSXIIIAFR A TR
800,000& * 122 9,600
OOESADIAIR A AFRHIS
1,000,000 1,000
02 S3=gHl 4,920 1,860 3,060
OIS ADIIMR A KSR
60,0003 x2CH* 122 1,440
OSXIIAMRA S|
50,000 * 122 600
OUSAIIAIR A SOIEEs S A2 44|
240,000 x 122 2,880
MESICSE A (ZU 2SS NSRS AY) 404,000 404,000
201 fet= 3| 2,000 2,000
01 AtR2tc|HI 2,000 2,000
ON=ZHE =582 & 78
2,000,000& 2,000
401 Al HIZL S 0HYI 402,000 402,000
01 Al&H| 402,000 402,000
OZU el HsSs A
352,000,000& 352,000
o= Z&& =4 50,000,000 50,000
ZHE30tS N2EHRHE 2 27,450 27,450
401 Al HIZ R 0HbI 27,450 27,450
01 AlZ28| 27,450 27,450
OXlFete( A=l HEH| 27,450,000 27,450
HH2SZHI(ZAIHAHLL) 178,716 176,559 2,157




A SAITHAE D
A HZYRIZHI(ZAIHALL)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
el 2| 123,245 119,408 3,837
el 24| 123,245 119,408 3,837
101 @124H| 123,245 119,408 3,837
02 JIEtAE = 83,421 83,421 0
O33CIRe LeHADIHI(2HS) 53,587
Aas 41,888,000&x1& 41,888
NEEEESS
9,992 #40A| 2t 12 4,797
IESg 960
BN} 40,0002 x 12 x 12 480
-JIEt 20,0008 x2& * 122 480
- ZAHG A 140,000& x 1+ 123 1,680
- AZEXI| 165,000 x1&* 122 1,980
- el s 50,0002 x1& 123 600
o2 At
3,490, 6502 *84%+*86%+*1/30%20! 1,682
OZdZ30tE AE=2c] AIZIEETD]
M=) 29,834
as
47,928,000 *50%+35A1 2+ /40 Al 2418 20,969
AN2I22+g
9, 1603 *20A1 2t 123 2,19
IE=Y 1,440
BN} 40,0002 x1&* 122 480
-JIEt 20,0002 x4 x 122 960
- HASAH 140,0002x 1+ 122 1,680
S L
185,000& *35A12t/40AI 2H+ 12 1,628
el
50,0002 *35A1 2H/40AI 2t 18« 122 525
SN 77,4903 18122 930
IS &I
1,747, 3753 +84%+86%* 1/30%1/7+77 Al 2t 463
03 SRA(FIH )22 U2+ 39,824 34,814
OZd=slits S2A 39,824
s 2,475, 2008 1H+ 122 29,703
HNESE 720
- <Xt 40,0002 x 1+ 122 480
-JIEt 20,0003 1 * 122 240
CARERIIE 1,988, 150& x1H 1,989
CReIfsd
13,8073 * 150%+8AI 2t * 152 x1H 2,486
- ZAHG A 140,000 x1&* 122 1,680
HE S| 990,080 1 =23 1,981




SAM: T A
. HYS2IZUI(TAITHAE DL
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| e 1,264, 440812 1,265
234l 55,471 57,151 21,680
J|1E23&| 55,471 57,151 21,680
201 Lt | 14,731 14,731 0
01 AR2teld| 14,731 14,731 0
FA2E =S| 7,128,000& 7,128
OJ|2gR+8 =2 7,603,000& 7,603
202 44| 36,960 38,640 A1,680
01 =WOdbI 36,960 38,640 21,680
OJ|28 R0l
280,000 x22H +6& 36,960
203 PYRF=&IH| 3,780 3,780
M FA2HHRFAHI 3,780 3,780
ORN2IURFAI 4,200,000 *90% 3,780




